[image: ]Unit 1 Past Paper Questions

[image: ]
[image: ]
[image: ].
5.


6.  Show that  ( x +3 ) is a factor of 2 x ³  +  7x² + 2x – Hence factorise the  polynomial fully.
7.  Find p if ( x + 3 ) is a factor of x³ - x² + px + 15. 
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9.  ABCD is a parallelogram.  A, B, C have coordinates (2,3) , (4, 7) and (8, 11).  Find the                      equation of DC. 
10.  a)  Given that x = 2 is a factor of  2 x³ +x ² + k x  + 2, find the value of k.
        b)  Hence solve the equation 2x³ + x²  +kx + 2 = 0 when k takes this value.
        111.

Express x³ - 4x² - 7x +10 in its fully factorised form. 
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22. Two circles, which do not touch or overlap, have as their equations 
( x - 15) ² + (y – 6 )²  = 40    and     x² + y ² - 6x – 4 y +3 = 0
(a) Show that the exact distance between the centres of the two 
circles is 4 units. (3) 

  (b) Hence show that the shortest distance between the two circles is equal to 
the radius of the smaller circle. (4) 
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